A A ﬁ ANTALWUUNY

fla: Jud: _ ezuuu_
(6x° — 2x — 2)(6x— 7) (4x + 3)(7x* + 4x + 4)
(3= TxX)(x + 6) (6+ 9)(3x + 6)
(Gx+9)(x+1) (x— 6)(9x— 5)
(3— 72 (8x—2) (5x + 9)(8x* + 3x + 3)
(x+ 2)(5x + 7) (o —3x—3)2x+ 1)
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ifa: Juii: Avuuu:
(6x% — 2x — 2)(6x— 7) (4x + 3)(7x° + 4x + 4)

36x° — 54x% + 2x + 14

B—Tx)(x+06)
—~7x> — 39x + 18

Bx+9)(x+1)
3+ 12x+9

(3— 7% (8x - 2)
—56x° + 14x% + 24x— 6

x+2)5x+7)
5¢2 + 17x+ 14

28x° + 37x% + 28x + 12

(6+ 9x)(3x+ 6)
27x° + T2x + 36

(x—6)9x—95)
9% — 59x + 30

(5x + 9)(8x% + 3x + 3)
A40x° + 87x% + 42x + 27

(® — 3x—3)(2x+ 1)
26 — 582 —9x— 3
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